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. e 1. In the paBSﬂge :’%ﬂat has lhg l #;ﬂe of
cardhoard and .IO::“'d T;i;hg qt authof?compam & orphan. @]Nt aid
us to 8!
|  ENGLISHLANGUAGE J B‘vfﬁf‘; “j";;;? Rwis still moﬂﬂg ?ﬁcm educational institute | 4 WE e v
Directions (1-10) : Read the | ghout so 1 reached down S0 {2) An old age home 1170 el
following passage carefully and an- | touched it on the wing ca"’ﬁmgl fy- A nursery { wl‘lﬂe h
swer the questions given below 1. | of the pins to fall out, LEE ©0 oy @ litary school o fet®
Certain words/phrases have been | jng around and around trying fhee (4) A milt : @ th'
printed in bold to help you locate | away but it was still pirmed by ht (5) None of these @ 10
them while answering some of the | gne wing with the other stralg gl 2. why would the author try to pﬂ-?er
questions. pin. Finally its wing broke o % 1 % 4 o agray the butterflies | 10 st
There was a time in my life | the butte:l;);iell to the ground ad which tried to Jand on him ? ¢ pack
when beauty meant something spe- | just quiv ought e
cial to me. tlygueﬁs that would have I picked up the torn wing and (m Bcc;l::&rgfﬁthw;ﬁv}; 53&:_ ing e
been when I was about six or sev- | the butterfly and 1 spat on its wing the @Noﬂ
tick back on a very bad death if they He
en years old, just several weels or | and tried to get it to 8 h
may be 2 month before the arphen- | sa it could fly away and be free be- stayed in the orpuanage. | d which
age turned me into an old man. fore the house parcnt came back. {2) Because the house parent ur g 10
1 would get up every moming But it would not stay on himt. had warned him against it, neaﬂi u
at the orphanage, make my bed The next thing I knew the (3] Because the hutterflics |W182°
just like the Iitle scldier that Ihad | house parent came walking back were too many in number. 7.
hecome and then I would get into | out of the back door by the garbage 5 e the author did (1) cent
one of the two straight lines and | room and started yelling at me, 1 {(4) Becau e lic (@) sit
march to brealdast with the other | told him that did not do anything not like tl_'le butierilies sit- .
twenty or thirty boys who also lived but he did net believe me. He ting on him. Py W
in my dormitory. picked up the cardboard paper and (5) None of these g. CARE
After breakfast one Saturday | started hitting me on the top of the | 3_ which of the following words 1) ck
morring I returned to the dormite- head. There were all kinds of but- can be used to describe the v
{3} va
1y and saw the house parent chas- | ferfly pieces going ¢verywhere. He author ? )
inj the beautiful monarch butter- threw the cardboard down on the (1) Cruel B a
flies that fived by the hundreds in | Bround and fold me to pick it up Dire
the bushes strewn around the or- | &0d put it in the garbage can in- 2) Adventurous ihe word /
phanage. side the back room of the dormito- (3) Daring posite i1
1 carefully watched as he rymfmk:;ﬂ'm dirt, by that (4) Caring fhrase p
caught these beautiful creatures, | & dirt, by tha (5) None of th :
one after the otier, and then togl | DIg 0ld tree, for the longest tirhe try- | 4 W]h did th ose . e pass
them from the net and then stuck | & to fit all the butterfly pieces " b Y e butterily'’s wing | 8 GE
straight pins through their head back together so I could bury them reak off ? v
and wings, pinning them onto a whole, but it was too hard to do. (1} Because the house parent ;| (9
heavy cardboard sheet. How cruel tShD ! pz;ayed f“'{;"‘t"m and then I put had broken it. L@
it was to kill spmething of such | S'¢™ 10 an old torn up shoe box (2) Because the IZ
beauty, I had walked msny times | 20d 1 burled them in the bottom of one wing. author broke 10, B¢
out into the bushes, all by myseF, the fort that I had built in the (3) Because Qd
just so the butterilies could land | 870und. out by the large bamboos, W ¢ one of its wings @
om my head, face and hands so 1 | 164 the blackberry bushes. 2s still pinned to the ¢
could look at them up close, " Bvery year when the butter- B;r:bﬂard and ttred to {;
When the telephone rang the les would return to the orphanage way. ‘
house parent laid the large Em-d- and try to land on me lo“rr’;uldaf% (4) Because the butterfly fell ! L"‘“m
E“:{l paper down on the back ce- i‘f &hoo them away because they on the ground. :?
" swer t;:P and went inside to an- not know that the orphanage {5} None of these ! ,& L4
phone. I walked up to the | V23 2 bad place to live and a very | 5+ What did the author do with g, ©
bad place to die - o £ W :
‘ all the butterfly pleces ¢ “
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| MODEL PRACYICE Surn
swer. (Ignore the errors of punch- (1) India mﬁ“‘"“d the patens -
ation, if any) tial of A
. 11. The firm's technology division/ {2) biotechnology in the mid
‘ now employs more ning/ thou- 1980s and )
R sand people, nearly/ one-third (3) created a dedicating minis-
]| of its workforce. try to promote
il el (1) The firm's technology divi- (4) research and development
. g sion in life sciences.
l b . ¥ ‘ : (2) now employs more nine (5) No error h
g é %] Nbjie of these (3) thousand people, nearly Directions {16-20) : In ¢ac
, ; (Hatldid ste liouse parent {4) one-third of its worlkdorce. | question below, a sentence witih
s gg 1 E .| 4 the anihior to'do ? (5} No error four words printed in bd%tysel 1}5
3 (if'voltend to the butterflies | 12. While Zenzele gone to the for- | given. Thess fe T e four
ik g 31 yiiele he was gone. ests/ every momning, his wife | (2), (3) and (4). i?:ﬁo e o
1; 2411|197 fetch butterflies for him. looked/ after their three chil- | words printed in may Be
h!&'ﬂhl :i|{aj Toithrow the cardboard dren,/ and finished the house- | wrangly spel€ or taapp™ Find
”:’ﬁ;%ﬁf H ;p er in the garbage can. hold chores. the context of thc; ;&:;:_ﬂwe- apelt
il stick-all fhe butterfies {1} While Zenzele gone to the z:_ltif;;pwr‘::ﬂ‘:z i any.oTh“glg num-
thyi 11|+ btk togather before bury- forests wife | ber of that word 1s your answer. If
1| {:ying them. (@) gvery morning. s Wil€ | all the words printed in bold are
-11{8)Neme of these loak " corre spelt and also appropriate

A E pirectionis (7-8) : Choose the (3) after their three children, in thc:l};:ontext of the sentence,

'Arent. ¢ gof iwh'éh is most similar in {4) and finished the household rmark () L.e. 'All correct’ as your
z tl!t., g;' ing i&o the word printed in chaores. RSWeE.

filteg Wm“ uzed in the passage. (5) No error 16. As it was the tenth (3)/ day
tiher - 7m . 13.In 1983, he took/ chargeofth; of the featival (2)/ the com-
¢ dif'] | ii{))cement (@) grounding development programme stables (3)/ on duty were
$ sitt ] 1,{3)3?:“ {4) earth which led to India's/ rapid tried (4)/ of patrolling. All
froir 'im,w'ﬂt progresses in the fleld. correct (5)

1 {3, cAREFULLY (1)In 1983, he taok 17. Rita was tending (1)/ to her
orag f 1 [ﬂcfdsely a) ously {2) charge of the development flowes (2)/ beds with joy (3)/
the. | ? I!-i!'li\fégllely (4} strongly programme . and pride. (4)/ All correct (5)

L ety ' (3) which led to India's 18. The most wonderfullest (1)/

' 1&&#‘2’6 /ibrase which is most op- (5) No error that they sometimes (3)/

. Tt
i TP, i

painl )

s i MR e i

ding' /51 81 el Away

ik [ [ QY and place  (2) get down
gati )idse sight (4} come closer
| 3R (@) g lost

B Eo

b all) iDbdbe . @) heght

dgEill Ll L T @ length

e i 11| ipiton -

HOAEIE || Direttions (1 1-18) : In the fol-
» i Bl ouestions, read each sen-

tudelis: Bid iyt whether there is

i divntatical ervor in it. If any,
21T ST I¥iikbe in one part of the

oifé! it imeaning to the word/
¢ printed in bold as used In

14. In an economy it is/ irmporiant
to maintain a balance/ be-
tween invesiment in shares/
and trading in complex deriv-
atives.

(1) In an €conomy it is

(2) important to maintain a
balance

(3) between investment in
shares

{4) and trading in complex de-
rivatives.

(5) No error

18. India recognised the potential
of/ bloiechnology in the mid
1980s and/ created a dedicat-
ing ministry to promote/re-

search and development in life
sciences.

R ilfisiciect the, part with the
ST Pyt Rnswer, If there is no
LTS 8 % a3 your an-
ik daihy: A
3 I Ty i e
HHE
L LEa B e i
ol 0l bl 4 e_;.i
gt [ [} CHE

=)

happen. (4)/ All correct (5)

19. 1t is beiter (1)/ to die (2}/ on
your feet then {3}/ live {4)/ on
your knees. All correct {5}

20. He glanced (1)/ around the
room suspisiously, (2)/ sure
they were (3)/ hiding some-
where. (4)/ All correct (5]
Directions {21 -25) : Rear-

range the following six sentences

(A]. [B}I {C)v (D), (B) and (F) in the

proper sequence to form a meaning-

ful paragraph; then answer the
guestions given below them,
{A) 1 counld not even hide myself,
which would have saved me.
(B) Once a monkey escaped from
one of the rooms in the pal-

ace and came into my roam.

._.14. - -
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.{C) Thia frightened the animal, | and chain upon NUMERICALABILITY 3¢
who jumped out of the win- | all dreamers, 1 ‘'suddenly attained o L
dow and climbed onto the | supernstural powers and passed Divections (31-40) : What yy, ﬂ,ﬂi
roof. through the gate like a Spirit. ¢ome in place of the question may, -
(D} Suddenly my sister entered my As 1 (27 along the twisting | () in the following questions 7 lﬂ?“J
room and screamed when she andtummgdﬂve.lcouldseeﬂ‘at 5 3 " Sﬁb
saw the monkey scratching | a change had come about. Thiswas | g3, -~ of 504 + g of640=2 Fy 1
me, niot the neat and orderly drive that. 9 ; l ¥
(E) 1 was so scared when I saw the | we had (28). It was only when | 1) 520 (2)4%0 ’[;]1"
monkey that § could not move. | bent my head to avoid the Tow (3) 460 {4) 540 N
o o e L | @fertese
o - scratching me. alized t ha 5
21, Which of the following should | come into its own again. The woods | 3% mg w0 lé?‘:;;quo i o
e the SECOND sentence af- | on either side of the drive had en- - Q) 8-
ter rearrangement ? croached upon the open space in (3) 582 4] 498 )
(1) B 2 C between. The branches of the trees’ (5) Nonte of these )
@ D @ E intermingled with my head lie the | 9g. 55% of 860 * 7% of 450 = 581 | )
5 F a;"chl:vady:i;lchumb 'E'l'lt‘?idﬂVEWﬂi’i (1) 24 (2)28 !’_2,1,
22. Which of the following should 23:::.:“ on theg;x:ﬁ:ca:ﬂ o;'_n : s];_.Q] (3) 32 (4) 36 L
be the THIRD sentence after p - {5) None of these Lo
rearrangement ? As I stood before it, 1 felt the t
(A - strange prick of tears behind my [ 34. 1740 + 12 x 4070+ 110=7 | (f]
i @D eyes. (1) 5635 (2) 5365 ';,5
26, (1) seemed (2) seem (3) 5465 (4) 5445 1
(5) E (8) dreamt  (4) occur '
29, Which of the following should | (5) felt (5} Xieme of these p
be the FIRST sentence after | oo (13 ) 5 .3 .1 - K
rearrangement ? . {1} slept (2]wake. 35. 8§x4§—6§=? w1
ma (2B O e (4) advanced !
@8 ¢ (4} D 11 11 _
B E 28. (1) knowing  (2) knewed W32y @R :
24. Which of the following should (3) known  (4) kmew 8
be the LAST (SIXTH) sen- (5) know (8) 32— (4) 33 '
tenice after rearrangement ? | 29. (1) transpire  (2) killed 43 s
(LB @c (3) happen  (4) happened (5) None of these
(3D (HE (5} occur 36. 9845 - 3806 + 486 =7-1128
{8) F 30. (1) fastly {2) time (1) 7365 (2) 7483
25, m- ;fo tmgo;vmg al;g;lfd (3) sudden  (4) fast (3) 7536 (4} 7653
e e rangement ?enten ) (B) quickly (5) None of these
(1B @c LOCATE NEAREST )| °'- 22+ J7 =529
81D @E BOOKSELLERS s 208
Ei}ri tions (26-30) :'In th For th e was
c . :-In the or
ol e e ate hlaaks, books & the . (5) None of these
each of which has been numbered. . magazines 17x4+4%2x2
These numbers are printed below of Kiran Prakashan 98 ~o0+Exiz 7 !
the passage and against each, five contact your nearest
words are suggested, one of which b 25
fita the blank appropriately. Find ooksellers, 1 B4 2 &=
t;l;:e the appropriate word in each Folr detailed information: 5
- 0g on our website : 11 13
- Last night I dreamt I went to. www.kiranprakagh stte ®) g @ 27
Manderley. It (28] to me that 1 Prekashencon
;t.lwgﬂ by tll:e iron gate leading to : {S) None of these
e drive, but there
* there was a padiock | \ J] s0. 82x52+2=502
5]




Mgone of these

> -(’%of250+1.8%0f400=?
baus 1575
- (@ 1475 (4) 15.2
(51 None of these
- tions {41-48) : What will
30 5 q o0 place of the question mark
s e following number series ?
'g 6 8 17 2 1115
RUES (2) 51
ene i B4 (G
% a8
s, 24 26 36 66 7 489
I [1) 138 2 142
L R 4) 124
=? ' @) 128
85 9 21 57 7 489 ‘
. {1) 185 2) 165
R (@) 170
. {5) 175
%15 29 47 73 115 ?
{1) 189 (@) 177
. (3185 (4) 195
{5) 181
8. 117 130 104 143 91 7
(1) 158 (2) 172
- @182 () 164
1128 ,, D) 168

4. A certain sum of soncy when
{nvested in a scheme amousits
{o Rs. 5,600 in Byears and Rs.
6560 in 8 years. The scheme
offers sitple interest per an-
mim. What was theé sum io-
vested in the scheme ?
(1)Rs, 4000 (2)Rs. 4200
(B)Rs. 4400 (HRs. 3600
(S} None of these
42, Nikhi) bought a patnting at a
certain price and sold it at Rs.
462000 which was 10% mor¢
than the cost price. What was
the price at whbich Nikhil
baught the panting ?
(1) Rs. 4,20,000
. [2)Rs, 4,40,000
. (3} Rs. 4.02,000

: . {4)Cannot be detetmined

. (8)None of these

W

48. A can {inish apieoeofwofié n
24 in (3) 8 days

' days. B is 20% less effictent \
than A, C is 60% more effi- (5) None of these *

cient than A. In how many
days B and C together can fin-
ish the same piece of work ?

(ns

310 412

49. Boat 'A’ can'travel 25.5 km
downgtream in 1 hour 30 min-
utes, when the speed of the riv-
er currerit is 4.5 kmph. How
much distance can boat ‘B'
cover in 2 hours 48 minutes
while travelling upstream, if
its speed in still water is 2
Janph more than the speed of
boat ‘A’ in still water ? (con-
sidesing that the speed of the
current s the same)
(1) 241em (2) 28km
(3) 18k (4) 20km
(5) None of these

8D. A retailer bought a table after

etting 20% discount on the

labelled price. He sold the ta-
ble to a customer for Rs. 6,760
and earned a profit of 30% on
his cost price. What was the
iitial labelted price of the ta-
ble ?
(1) Bs.6500 (2} Rs. 8400
(3) Rs. 6600 (a) Rs. 6450
{5) None of these

B1. A 240 meire long train cross-

es a 300 metre long platform

ii 27 seconds. What 18 the

speed of the train in tomph ¢

(V&6 (2) 60

76 (A6

(5) Nane of these

Vandand sells an article for

Rs. 3240 anid earns a profit of

a0%, What 18 the cost price

of the asticle ?

(i) Rs. 2,800 {2) Rs, 2,820

{3) Rs. 2,750 (4) Rs. 2,700

(5) None of these

§3. 16 men can complete a plece
of wark in 7 days. In how
many days will 28 men com-
plete the same work ?

(1)6days (2} Bdays

1
2 7-5

B2,

B4, Surn of five consecutive
mumbers 15 360, What 15 the
second number in ascending

arder ?

(1) 76 (2) 8
{3) 74 (@) 72
(5) None of these

58. Cost of 6 dozen apples and 8
dozen bananas s Rs. 1400.
What will be the cost of 15
dozen apples and 20 dozen ba-
nanas ?

{1)Rs. 3,200 (2) Rs. 3.500
(3) Ra. 3,600 (4) Rs. 4,200
() None of these

868. Beena and Meena started a
boutique investing amounis of
Rs. 36,000 and Rs. 56,000 re-
spectively. If Beena's share in
the profit earned by them is

- Ra. 45,000, what is the total

. profit earned ?
(1) Rs. 81,000 {2) Rs. 1,27,000
(3) Rs, 72,000
(4} Rs. 1,17.000
() Norie of these

57. Simple interest accrued on an
amount in eight years at the
rate of 11 p.c.p.a. is Rs.
57,200. What was the princi-
pal amount ?

(1} Ra. 72,000
(2) Rs. 82.000
(3) Rs. 75.000
(4) Rs. 65,000
(5) None of these

58, Mr. Sharma invested an
amount of Rs. 25,000 in fixed
deposit at compound interest

at the rate of 8 p.c-p.a. for two

years. What amount Mr. Shar-
ma will get on maturity ?

(1) Rs, 28,540 (2) Rs. 29,160
(8) Rs. 29,240 (4] Rs. 28,240
(5) None of these

| g9, Four-seventh of a number is

al 1o 40% of another num-
ber. What is the ratio between
the first nuraber and the sec-
ond number respectively ?
ns:4 (2)4:5
(310:7 8y7:10
(5) None of these

-
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80. Nandkishore gives 35% of the {1) Rs. 63,750
moneyhehadtohisvﬂfe and

gave 50% of the money he had (2) Rs. 75,000

to his ?ons‘ . Rem}?ining (3) Rs. 73.650
amount of Rs. 11,250 he kept

for himaelf. What was the to- (4) Rs. 72,260
tal amount of money Nandik- (5) None of these

_—ishorehad @

Directions (61 - 6%) : Study the following table carefully to answer

these questions.

Number of Students studying five different disciplines from iive

Institotes
Discipline | Art | Commerce | Science Management Computer Science
Ingtitute
A 350 280 450 140 300
B 240 320 400 180 320
C 460 300 360 160 3s0
D 340 480 420 120 340
E 280 360 340 200 330
61. Number of students studying (1) 356 (2) 360
Commerce from Instiute D is (3) 348 (4) 340
what per cent of the total (5) None of these

number of students studying
all the disciplines together
from this Institute ?

2

2)286-

1
(1) 283 3

; 2 1

(3]24-5- 4) 245-
{5) None of these

62. What is the average number

of students studying all disci-

plines together from Institute
E?

(1) 312 (2) 310

(3) 302 {4) 304

(5) None of these

63. What is the ratio between to-
tal number of students study-

_ ing Science from Institutes o

and D together and the total
number of students studying
Computer Sclence from these
two Institutes together respec-
tvely ?
(nla:12  (212: 13
(313:15 (@15:13
(5) None of these

84. What fe the average number
of students studying Com-
merce from all the Instihutes

65%. Total number of students
studying Arts from Institutes
A and B together is approxi-
mately what per cent of the
total number of students
studying Computer Science
frorn these two Institutes ?
{1) 8¢ (2] 85
3)88 (4) 90
(8) None of these

REASONING ABILITY

Directions (66-67) : Study the
following information carefully and

4 answer the questions given below :

M is the sister of ¥. Y is the
inother of J. J 18 the husband of D.
L is the mother of D. L is married
to K. X is the [ather of Q.

66. How is D related to K ?
(1) Niece (2) Nephew
(3) Daughtér  (4) Son
{6) Paughter-in-law

is S related to L ?

(1} Mother-in-law

(2)Son -

{3} Daughter

{4) Cannot be determined

{ogether ?

{8)Fath er-in—law

87. Ii S is married to Q, then hov

. The positlons of how g
digits in the number §3)4¢0

will remain unchanged lfgh? {ﬂ
e emsan B
C €T thy N
bere? € Iy [5}
(1] None (2) One ;esp"‘
(8) Two (4) Three o
(6} More than three L o &
69. Among A. B, C,Dand E gy} (3} €
having different amount of (4) &
money, C has more mony!{ (5) fi
than only E. B has mg;, p‘ol“
money than D but less u-.a,, ik
A, Who among them has thy| pent
highest amount of money ? gve)
ne @A the
3 b toil
{4) Data inadequate (n
{5) None of these | ®

wards West, toolk a left tum
and walked 20 metres. He
again took a left turn and| e
walked 30 metres. He then| (1)
took & right turn and stopped.|  (3)
Towards which direction was| (5)

70. Drakash walked SOmet:mm.F ®)°

he facing when he stopped? |5, Wi
(1} South {2) North me
{3) East n
(4) Data inadequate

(5) None of these {2)

Directions (71-75) : Study the| )
following information carefully am ©:
answer the questions given below: | e

Seven friends namely P, Q. R _

S, T, U and V are standingin3. (5
straight lne facing north but nol’
necessarily in the same order.

Only two persons stand betwee - !‘ﬁfull
Vand T, o

V stands to the left of T.

T does not stand at any of i
extreme ends of the line. '

Q stands second to the right d 73.

V.
©Only one person standsbet\&'ﬂ‘“ '
Qand R

P stands to the immediat¢ ”ﬁ
of U.

U is not an tmmediate 'll“sh
bour of V. l

_._._...--MMMMMH”




i}&ﬁc—h of the following pairs
"‘% i7" giand at the extreme ends of
£ gheline ?

h!h%;‘__, Mmus 2 PR
. (3)‘1;'9;{ wuv
LI O R
t ra. Wl 18 E15 Bosition of @ with
N O third to the left
E.

. [2) third to the right

%, (3) fourth to the left

(4) second to the left

ri' i5) fourth to the right

:‘lg 3. Four of the following five are

|]h‘} alike In a certain way and
. hence from a group as per the

given arrangement. Which of

the following does not belong

o

to that group ? '

1) sV (2) RP

3) RT 4) sQ
W ) TU

!4y 44, Which of the following repre-

by;  gents the position of R from

iy  the right end of the line ?

e (1) first (2) second

%  (3) third (4) fourth

@ (5) fifth

% 75, Which of the following state-

i . mentsis brue regarding S ¢

{1} S stands sccond to the
right of P

{2) Only one person stands
between Sand T.

(3) S stands at one of the ex-
treme ends of the line

(4) Only two persons stand be-
tween Pand 5.

{5) S stands to the immediate
left of V.

: Directions (76 — 80) : Study

te following arrangement carefully
' i;,d answer the questions given be-

—% TR

h

LN

o

D3M%R1@6F9EOKP
¢ %BI‘?*UQ4AWF5$8#
3

/1 How many such consonants
are there in the above ar-
4 Tangement, each of which 18
¥ lmmediately followed by 2
i Dumber and not irnmediately
ﬁ! ~ breceded by & number ?

g {1) None {2) One
PE - 18 Two " {4) Three
L= - {6} More than three

77. How many such numbers are
there in the above arrange-
ment, each of which is imme-
diately preceded by 2 symbol
and immediately followed by &
consonant ?

(1) None 2} One
(3} Two (4) Three
{5) More than three

78, How many such vowels are
there in the above arrange-
ment, each of which is imame-
diately preceded by a number
but not immediately followed
by a number ?

(1) None (2) One
(3) Two (4) Three
(5} Four

79, If all the symbols are dropped
from the above arrangement,
which of the following will be
the eleventh from the left end
2
Qp @1
32 4)B
(5) None of these

80, Four of the following five are
alike in a certain way based on
their positions in the above
arrangement and so form a

group. Which is the one that
does not belong to that group
?

(WKP® (QQUQ*

B OEF @L1B7
BGIR1% :
Directions (81 ~8%) : In

of the questions below are given
three statements followed by two
conclusions numbered 1 and II
You have to take the given state-
ments to be true even if they seem
to be at varlance from commonly
known facts. Read all the conclu-
sions and then decide which of the
given conclusions logically follows
from the given statements disre-
garding commonly known facts.
- Glve answer (1) if only Con-
clusion I follows.
Give answer (2} if only Con-
clusion I follows. -
Give answer (3) if elther Con-
clusion I or 1I follows.
Give anewer (4) I neither

o9l PRACTICE SET-14 ”_M| MODEL PRACTICE 8ET-14
!

Give answer {8).if hoth Con-’

clusions 1 and 11 follow,

81, Statements : _
Some trees are forests.
Some [orests are houses,
Some houses are ients.
Conclusions :

1. Some tents are forests.
1. Some houses are trees.
§2. Statements !

All cards are boxes.

No box is slate.

Some slates are tiles.
Conclusions:

1. No slate is card.

1. Some tiles are boxes,

_ §3, Statements *

Somme papers are arrows,
All arrows are sticks.
Some sticks are boards.
Conclusions :
1. Some boards are papers.
11. No board is paper.
84. Statements :
All ropes are tiles.
Some tiles are bangles.
Al bangles are nalls.
Conclusjons :
1. Some nails are ropes.
II. Some nails are tiles.
85. Statements :
Some days are nights.
All nights are stars.
All stars are ¢louds.

Conclusions :

1. Some clouds are days.

1. Some stars are days.

Directions (86 ~ 90) : Study
the following information carefully
and answer the questons given be-
iow :

PQ RS T, V,Wand Z are
sitting around a circle facing the
center. R is second o the left of 2.
who is third to the left of P. T is
third to the right of W who is not
an immediate neighbour of either
R or Z S is fourth to the right of
Z. Q is fourth to the right of T,

86. In which of the following pairs
is the first person sitling to
the immediate left of the sec-
ond pcrson P

Conclusion 1 nor 1I {ollows.

| ()
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greater than nor equal to g

greater than nor smaller than @

amaller than nor equel to Q"

MODEL PRACTICE SET-14 |

(1) RV {2) Zv
{8} W@ 4} sP
{5) None of these

87. In which of the following com-
binations is the first person
sitting in betwesen the second
and the third persons ?
(MTRV . (QPST
[8) wpPg @ Qzv
{5} Daia inadequate

88. Who is second to the right of
s5?

iy
8w
{4) Data inadequate
{6) None of these
89. What is S's position with re-
spect to W 7
(1) Third to the right
{2) Third to the left
(3) Fourth to the right
(4) Fourth to the left
(5) Second to the right
90. Who is to the immediste left
of T?
(ns
B R
{4) Data inadequate
(5) None of these
DivectHons (91-9%5) : In the fol-
lowing questions, the symbols 8,
96, ¥, 6 and # are used with the fol-
lowing meaning as illustrated be-
low :
‘P 9% Q' means 'P is not smalier
than gQ'.
‘P # ' means ‘P is not greater
than Q'
‘P 8 Q' means ‘P is neither

v

P

‘P % Q" means ‘P is nelther
‘P § @ means P is neither

Now in each of the following

questions assuming the given state-
ments to be true, find which of the
iwo conclusions ] and 11 given be-
low them is/are definitely true ?

Give answer (1) if only Conclu-
gion I ia true.

Give answer (2) if only Conclu-
sion 1 is true.

Give anewer {3} if either Con-
clusion I or I is trize,

| (G0

Give angwer (4) if neither GO o7. R é
cluston [nor B trUe: (2) %9263* P 14
cusions I and I::re tru @) ©0523© . :
g1. Statements : th |

N®%F, F#H HxU (5}Nonilof ese | )
onclugions: [ USF 8. JETWBL: ¢
¢ L H%N (1838760 (2 @3878g 15
- 87$s @s3erm b
. Statements : (8) @3 :
” KSR RoW, WH#T (6) None of these s
Concipsions: LT%R 99. KHAFY] gl
N K$W (1) %65125% )
93, Statements ! (2) ©6125% .
K+T, TSM M8J (3) ©62150 :
I J*T ’  (5) None of these "
94, Statements @
100.BPTRKA
D#R R5M, M$B 5 (1) $284%1 (2) 1284%$
Conclusions . :ﬂr‘; DD (@) 1284%]1  (4) $284%5
: f th
95. Statements : (5} None of tnese
BSV, VM. M$J WERS
Conclusions: LJ#V % ANS E
I M#B 1.2 21 34| s
achnirectimbgﬁ -ilﬂfl’l Il 5@ 6@ | 78] s
€ gquestion ow is given a $
group of letters followed by four 9.(4|10.0 |11.(2 | 12{)
combinations of digits/symbols 13.(8) | 14.(4) | 18.(3) [ 16.(3)
numbered (1), (2}, (3) and (4}. You
have to find out which of the four 17.09 j18. (1 ] 19.0) | 20.6)
combinations correctly represents 2L | 22.(1) | 23.(2) | 286
the groups of leiters based on the
following coding system and the 25.0) 126. (1) | 27.(4) | 28.6)
conditions that follow and mark | [ 29 (4 | 80.(3) | 3L (1) | 32.65
the number of that combination as | | 33.(1) |34.12) [ 38.19) | 36. 9
your answer. If none of the combi-
nations correctly represents the 37.(3) [38.(1) | 39.(4) | 20.¢)
group of letters, mark (5) i.e. 4L {3) 142, (3 |43. 2 | 40
‘None of these' as your answer, 45. () |46. (1) | 27.11) | 4.0
:ui.l}r als[ria[e[TTa[r[wlETu[RIVIE[ 48. (2) | 30.(1) | 81.{5) | 5244
syabol . 53.(4) | 54 (3) | B5. (2} | 56 1]
Cose_[1}e]2fefale[# el 7 (s 6[%[s[¥5] | | 57 ) | 58. (@) | so. (a1 | 608

Conditions : 61.(2) [62.(3) | .31} | 646

(i} If the first letter is a con- 65. (5} |66.(3) |67.14) | 661

sonant and the last letter is .

a vowel, their codes are to be 9.0 [v0.@ 72,69 | 7211

interchanged. 73.05) |74 | 75.2 | 781

() If the first letter is a vowel | | 77.(2) | 98. (3 | 70. (1) | 8 W

and the last letter is a conso- 8 8t @

nant, both are to be coded as LW 182.() |es @ @

the code for the vowel, 88. (5) [s6. (1) |87.(3) | 88

96. :J;svgmz\;% o 8. (5 | 0. (1 | 2. () | &8

1) 61 3 321958 s, ] w,{-l!

(3621956 (4 621953 200 1980 s

(5) None of these 97.0) | sa.qa e ) P
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EXPLANATIONS ==

§, 2] A old age home
,.(I}Becausehetl-loughtthat the
putterflies would suifer a very
pad death if they stayed in the
‘srphanage.

P 8 {4} Caring

' . (9) Because one of its wings was
still pinned to the cardboard
and it tried to fly awnay.

g, (2) He put them in a shoe box
and burled them in the ground.

8 (3) To throw the cardboard pa-
per in the garbage can,

7.(3) The meaning of the word
Land (Verb) as used in the pas-
sage is ; to come down to the
ground after jumping, falling; to
come down through the air onto
the ground or another surface.
Look at the sentence :

The plane landed safely.
Hence, the words land and sit
Bre SyTonyjnous.

8.{1) The meaning of the word
Carefully (Adverb) as used in
the passage is ! with attention
or thought to what you are do-
ing so that you avold hurting
yourself aor doing something
wrong.

Look at the sentence 3

She put the glass down care-
Henee, the words closely and
carefuily are synionymous.

9.(4) The meaning of the phrase
Get away as used in the pas-
sage s ; to escape from a place;
to sneceed in leaving a place.
Hence, phrases get away and
conxpe closer are antonymous.

10, (8) The words bottom and top

are antonymous.

11.(2) Here, now employs more

than nipe ...,. should be used.

12.(1) Here, Past Simple L.e., While

Zenzele used to gofwent to the

forests ... should be used.

13.(4) Progress is an uncountable

Noun.

Hencc. rapid progress in the

dees should be uscd here,

14. [4) Here, and trade in complex
derivatives ...... ghould be used,
There 15 n0 necd to use a ger-
und.

15. (3) Here, created a minisiry ded-
icated to promote/the promo-
tion of ..... should be used.

16. (4) The appropriate word will be
! Ured.
17. [5) All correct
18. (1) The appropriate word will be
¢ wonderfiil. Usé of two super-
latives together should be
avoided.
18. (3) The appropriate word will be
: than.

20. (2) The correct spelling is : sus-
piciously.
21.(4) E
22.(1)A
23.(2)B
24.(2)C
25.18)F
26. (1) seemed
27. (4) advanced
28. (3) kmown
29. (4) happened
30. {3} sudden

31. (1}? =504 x §+640x%

=280 +240=520

250%16  480x115
32. 51?="7¢8 *" 100

=40 + 552 = 592

86085 450x7?
33. () =755 * 100 =58l

= 473+ 52 =581
450x?
= —oo =581 -473 =108
108100
_._..——'-—:24
= ?= ""450

1740
84, (2) 7= ———-x4070x 110

=5365
77,23
86. (4) 7= —-x-g“e
1771 _ 1
=745 3

1618

=33
T8

1
=328

38, {5) 9845 — 3896 + 486
=7=-1128

= 6435="7-1128

= 7= 6436 + 1128 = 7563

37. (3) J? =520-484=45
= ? =45 %45 =2023

17x4+18x2

3B. ()7 =
o0 %12

_ B8 +32
T 18x12

_ 100 _325
~18x12 o4

=%=50-47 + %—-:—

2 .3

-3 3-—a22-
5

260x32 400X L8
40. W7 =56"""""To0

=8+7.2=152
41, (3) The patternis :

1
8)(51'1 =4+1=5

Ex1+3=5+3=8
Sx%*'ﬁ =12+5=17

17x2+7=34+7=
41 x25+9=1025+9
=111.5




" MODEL PRACTICE SET-14

_ 42. {3) The pattern is ;
24+2(=1+19 =28
26+ 10{=2+2%=36
A6+ 30(=3+3%) =66

ss+38(-4+431=
134 + 130 (= 5 + 57 = 264
43. (2)The pattern {s :
5+4=9
B+12(=ax3)=21
21+36(=12x3) =57

57 + 108 (= 36 x 3) = [165]
169 + 324 (=108 x 3) =489
44. (1) The pattern is !
18+14=29
20+18(=14+4) =47
47+26{=18+8)=73
73+42(=26+16)=115

115+ 74 (=42 + 982) =

48. (1) The pattern is ;
117+ 13 =130
130-26{=2x13) =104

104+3x13=104 +39=143

143-4x13=143~52=91

91+5x 13=91 +65=[156]
46, {1) Principal + Interest =

Amount

- 8.1 for 3 years = Rs. 5600

woufi)

S5.L for 8 years = Rs, 6560 e

(1)
By equation {fi} - ().

S.1. for 3 years = Rs (6560 —

B5600) = Rs. 960
S.1. for S years -

960
= =3 %5 =Rs. 1600

+ Principal = Rs. (5600 - 1600}

=Rs, 4000
47. (1) Required C.P.
462000 x 100
110
=Rs. 420000
48. (3) Time taken by A = 24 days
B is 20% less efficlent than A
s~ Time taken by B

24 %100
80  -30days

o=

=X

+. Time taken by ©
100, 94 15 days
160

~B+Csl day’s work

11 1+2 3
30*1'5 = 30 ao
1

10 .

. Required time = 10 d2ys

49, (2) 1 hour 30 minutes

3
=3 hours |
. Rate downsiream of hoat A
255
3
2
25

X2 _ 17 kmph .

Speed of boat A in stll water
=17-4.5=12.5kmph

~ Speed of boat B in still water
={12.5 + 2) kmph

= 14.56 kmph
- Rate upstream of boat B
2 hours 48 minutes

(2 + is‘] hours

14
=5 hours

+ Required distance

.-_-lg-xlo =28 km

(1) Let the marked price be Rs,
4

HSCPR = Rs, [ 100
According to the question,
X %80 « L:-}_g_

100  10p =760

04x
100

6760x 100
i

xxso]

= 6760

104 = Rs. 8500

| Monmpmcnczsg,

Length of{traln + platf% ' |ﬂ 1:30
= Spent ‘
pent tme . %
240+ 300}, 4
=[ 27 ]“'/SW- -
640 A ¥
= g7 m/eee " @b
18
= 20)(-——) b
[ 5 ) lmp 2600
=72 lemph
B2. (4) Cost price of the artig,
100 d
= Rs. (TQE X3240] s 7
=Rs. 2700
= 16x7=28xD,
= a=162;7=4day3 yx.]
54. (3) Sum of the five consecuiive x
even numbers = 380 2y’
‘;‘::d even number o Llet
= ? =76 tially F
Saving
~ Required second number
=76-2=74 X -
65. (2] Let the CP of a dozen ofap: .
ples and a dozen of bananas
be Rs. x and Rs. y respective- | S x=
ly.
According to the question, " *Rs. 7
6x+8y= 1400 2 Tot
Dividing both sides by 2. & the
3x+ 4y =700 *440.
Multiplying both stdesby & | 1809
we have, *Rey
15x+ 20y= 700%5 %50
= Rs. 3500 * e
§6. (4) Ratio of the profits of B 0 S
na and Meena th
= 35000 : 56000 =5:8 %

Il the total profit be Rs- %

Sx
2 . 0o
13 450

45000 x13
b X= --—"'5-""

=Rs. 117000




x_2,7.7
w | B B 410
. 80, (2) Let Nandkishore had ini-
tially Rs. x.
Savings per cent = 15%
iy |.
XX 'lz = 11250
ey 100 ~
‘e _ 11250100
s} XS TT 18
=Rs. 78000
st 61. (2) Total number of gtudents |
: in the institute D
12 1 2440 +480 +420 + 120 +340
; i =1800 '
W | . Required percentage
480 80 _q62
= ——x100= 3 =263
fB*| 62, (3) Required average number
280+ 360 + 340 + 200+ 330
} = 5
o2
= ﬂ}-=!3[]2

27 a7
265000 % 2% x 27
=Rs. ( %35 25]
=Rs. 20160
' 4
.' 59! (4) XX ?

i

xRy 2
=YX Jgo=U* g

~ 83, (1) Required ratio

={360 + 420) : (380 +340)
=780:720

=]13:12

. €4, (B) Average number of students

65. (5) Required per cent

350+ 240
= [3oo+320)"1°°

a -g—:% x100 = 95
(66-87) :
J 18 the son of Y.
D is the daughter of L and K.
K is the father of D and Q.
66. (3) I 15 the daughter of K.
~87. (4] L is the mother of Q.
@ is either husband or wife of
S.
Therefore, S is either son-in-
law or daughter-in-law of L.

5 1 49 7
.(3 :
BE'“1 4 5 79
69.(2)C>E,A>B>D

‘ Now, A>B>D>C>E
<70 (2)

30m

20m

E 30m
(71-76) 1

Britiiis

71, (HV and U stand at the ex-
treme ends of the line.
72. 1)@ 18 third to the left of P

79. (5) There

are two persons be-
tween T and U. In all other
two persons stand adja-

74. OIR —
end. e from the right

in Commerce ) .
_ 260+ 320+ 800 + 480 +360 75. ?fls stands fourth o the lel
5 Pl
1720 S stands second from the left,
R LC L Y ‘Three persons stand betwesn
5 PandS.

$ stands to the immediate

right of V.
76. (4) [Nlnmbdfr| Consonant| Number] *
Such comhbinations are :

77. (2) [Symbo! { Number | Consonant |
There {s only one such combi-

pation :
78.(3) IPTmnberl Vowel I‘E!Illi‘-'ﬂ

Such combinations are 3

[0 ].[4AW]

78. {1) According to question, the
new sequence would be

D3IMR15FOERPIEBIZUQ4AWFERZ

11th from left - '

$0.{4) 1{-—*’1—-3» P—2 30
u +1 > Q -2 > %

-3
g—Hop—2>F
11—t B—25 7

R_-i-l—}

1—25 %
(81-80) :
(i) Al cards ave boxes — Uni-
vergal Affirmative (A-type).
{i1) Some trees are forests —
pParticular Affirmative (-
type}.
. [if)No hox is slate —» Universal
Negative (E-type).
{iv) Some boxes are not slates
—+ Particular Negative (O-
type).
81. (4) All the three Premises are
Particular Affirmative (-tvpe).
No Conclusion follows from the
two Particular Premiscs,

palrs.

cent to each other.
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82. (1} All cards are buxes.

No bbx 1s slate,

A + E = E-type of Conclusion
“No card {s slate.”
Conclusion I ia Converse of it.

No box is slate,

Some slates are tiles.

E + I = O,-type of Conclusion
“Some tiles are not baxes.”

83, (3) Some papers are arrows,

All arrows are sticks.

[ + A = I-type of Conclusion
“Some papers are sticks,”

Conclusions | and I form
Complementary Pair. Therefore,
either I ar 1 follows.

84. (2) Some tiles are bangles.

All bangles are nalis.

I + A = Iype of Conclusion
“Some ifles are nails.”
Conclusion 11 is Converse of it.

85. (5) Some days are nights.

All nights are stars.

1 + A = I-fype of Contclusion
“Sorne days are stars,” :
Conclusion 11 is Converse of it.

All nights are stars.

All stars are ciouds,
A + A = A-type of Conclusion
“All nights are clouds.”

Some days are stars.

All stars are clouds,

I + A = I-iype of Coneclusion
“Some daya are clouds."
Conclusion I is Converse of it.

86. (1) R is sitting to the jrmedi-
ate left of V.

87. (3) W is sitting between P and
Q.

88. (6) Ris second to the right of S.

8. (5) S is second to the right of
w.

90-(1]Slstoﬂ1emuned1atcleﬁaf'r.

(91-95) :

Nhoz|t=s
*<|(d==

E=>

LN F=NzF
F#H=F<H
HxU=H<U

Therefore, N> F<H<U
Conclusivus

L USF=U>F:True

II. H% N = H > N : Not True

92. 5] K$M=K>R
RIW=>R=W
WHT=SWeT

Therefore, K> R=Wg T

Conclusions

L TR=T>R:True

II. sz=K'>W:'Ih]e

8. A K*¥T=K<T
TSM=>TsM
M&J:M:J

Therefore.K<T>M=J
Conclusions

. L J*K=>J<K:Nut'l‘rue .

1L J*T=°J<T:'n—ue
94.()D# R=DgR
RSM:@ RaM

|Mom_,;

MBB#M:B h :
Therefore, D g R« Mbh‘.‘_ "
Concluaions ;
I, M6iD=>M= D'Nn
Eitherlorllistme :
§5. 5)BaV=B=V

VeoM=>VaM

M&J=M>J
Thevefore. B=VaMyy
Conclnsions
I JAXV=J<V:iTrge

0. M#B=>M<B: Trye
g8.(4U P A M Y g
N
6 2 1 9 5 3 -
o7.(11 M P B E gz 0
A A :
@ 8 2 8 3 @ !
Condition () is applicable, 2. &
98.3)J E T W B § ;.
Ly bbby :
®@ 3 B 7 & 3 :
88.2)K H A P Y | i
B A A .
® 8 1 2 5 %
Condition {i) is applicable,

100. 2)B P T R K A
L A A A 3.

1 2 8 4 % §
Condition (i) is applicable.
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